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MATHEMATICS
(2024 ADMISSION ONWARDS)

Duration: 1.25 Hours Maximum Marks: 50

Remember{K}, Undersfand{b) Apply(A), Analyse(An), Evaluate(E), Create(C), Skili(S}, Interest(l}
and Appreciation(Ap)

Students should attempt at least one question from each course outcome to enhance their ove{aii
outcome attainability.

PartA
Mutltiple type Questions
Answer any 25 questions

Each question carries 2 marks

1. Which of the following is an example of a scalar matrix? [/ [COo1]
N [2 0} i 12 0}
g 3 0 4
o [1 2} . 0 1}
2 -1 1 0
2. : 5 9 1 2] [U]/[CO1]
FP= { 4 31 and@Q = | 3 4|, which of the following
ey 5 6]

statements is correct?

a). Both PQ and QP are defined.  b). Neither PQ nor QP is defined.

c). PQ is defined, but QP is not d). QP is defined, but PQ is not
defined. defined.




K1/ 1c04

4 (fl@)+ g(z)) =

x. then 3
d
p s (9(33))

o). L(F=) ~

it f and 9 are gifferentiable at

3.
2). L(f(@) 1 L (g(@))

o)- %;(f(mﬂ%w(g(m))

0
-1
1 -1

4.
The matrix A=

b). Unit Matrix

ay. Scalaf matrix
atrix

d). Skew—symmemc m

€)- Symmetric Matrix

5, Find derivative © fol2 = )
b). 2 — 2T

a). 2
d).

c). 2
6. Whatis the degree of the po\ynom'\a\ 3z + 9x® + 4+ z’
b). 2

a). 1
c). 3 q). 4
L e 2)2

7. Find the gerivative of flz) AT g where f(&) = {z
a). 0 b). -2
. )

o). 1
g Find the value of sin 3@ 4 co8 qrat® = 0.
p). 0

a). 2
c). 3T d). 3
g. The number of triangles formed bY joining the vertices of a potygon ofm
: sides is
m(m~1}(m~2‘) b) m(m~1)(m—2)
2 ’ 6

a).
e of these

m{m—1) (m—2) d). Non

c). 3
| d with the

10, How many 8
- ey may be repca

1/ 1Co4

4.0
Wl / {CO‘\}

u1/1c02

(A]/ (COA

[}/ [CO4

(A (G

A



11.

12.

13

14.

15.

16.

17.

A0

c).8x8 d). 8

d o
165)=
a). 5 b). 0
¢). 1 d). 2

A ‘.
A 1 Then the order of 4 is

3 4
a2Z2x3 b). 3 x2
¢).2x2 d).3x3

The roots of the quadratic equation 22 — 8z + 7 = 0 are

a).1,—7 : b). —1,7
C)' ﬁl? —7 d} 1’7

Which of the following is not a quadratic polynomial?

a). z* b)z*+1

ch.z+1 d.z?+z+1
\ dy . ot

Find % fy=<zxcosc.

a). zsinz +zCcosx b).sinz +cosz
¢). —xsinx +cosz

d). None of these

If Alis a matrix of order 3 X 5 then each coloumn has

a). 3 Elements b). 5 Elements

c). 8 Elements d). 2 Elements

... is a factor the quadratic polynomial 2z + 9z + 47

a). 2z +1 b).2z — 1
c.z—4 d). 2z +4

o3 L3 idhemra £l — ,,,2 L EMm 14

[U]/ [COA4]

[U]/[CO1]

[U]/[CO2]

[U]/[CO2]

[A]/[CO4]

[U]/[CO1]

[A]/[CO2]

AT/ TCO21



0 0
3 6 —2
7 -3 -3
r« 1 0‘1

7 -1 —3}

jetters of the word '‘DELHY

< - $ =33 F %!
med with ine

)

57 What is the derivative of y = tan(4z?)?

a). sec?(4z?) b). 8z sec? (4z?)

c). 8z tan(4z?) d). 0
28. Eva\uate%%
a). 45 b). 90
c). 60 d). 75
Hn—13!
29. The value of %%%— is
a). n(n-1)! b). (n!)?
c). (n+1)! (n—1)!
() s

30. in how many ways can 12 different books be divided equally among 4

sets or groups”?
a}‘ 12 04 b) 12C3X9034>!<603X303

d). 20, x? Cs x5 Cs x3 Cs

[A]/[CO1]

[A]/[CO3]

[U]/[COA4]

[U]/[CO3]

U]/ [CO3]

[A]/[CO3]

[2x25 = 50]




